Tekla Structures

General informations and details for steel structures see in the drawing nr. C-01-836718-141-2804-102-1001 and C-01-836778-141-2804-102-1002.
General informations and details for duct see in the drawing nr. C-01-836778-141-1430-452-1001.

PLATFORM T.0.S. +6.008

1:20
O0HTP-1 _ 00HTP-2 ) C 0OOHTP-3 ) C 00HTP-4 ) _ 0OHTP-5 )
| | | | |
| | | 1 |
| | M16x50 | 1 |
| | 1S04017/EN15048-1 S | | i
‘ | X | |
| M16x50 M2Lxb5 M2Lx65 | EN14399-4 | | |
M16x50 | 1SOL017/EN15048-1  EN14399-4 EN14399-4  M24x95 | SV Mz0xo0 | | ‘
ISOLDTI/ENTS048. 05375 M xS AT EN1A399t | M20xs0 | M2exs 023218 561, oy Mabxgs 02320 ENTLS95-4 ENTL99-t - 0232t |
M24x85 | o M2Lx6s \EN14399-4 M16x45 1645 ‘ X EN1L399-4 ;- 1S040177EN15048-1 M20x50 ENTL399-4 _ M16x50 MBSO S wneen : J - [1023100
/ EN14399-4 o ENIR399-6 - E3g9.. 1023217 1S0L0TH/ENTS048-1  EN14399-L | EN14399-L |ENT3P- . S 023315 ENW399-s eI L= X X M20x50 | | |
o (1023107 ‘/‘ EN14399-4 ] ERER L EFTT — == ‘ g _ EN16399-4, i g : ! - TN ISOLOTH/ENTS048-1 11023290 SOLOTH/EN'SOLS-1 ENW399-4 | /Y —_
L Th g T O Co T g 1 R ] o ol h T e o Sl LT Y o I I o Bl
( OOHTP-B Hl#?ﬁ%%ﬁ fffff - ﬁ@ﬂ T v B B G maan AT a N e aR S A R O U Y Y W | 1 S S % fffffffffffffff S A N S e 1 N W [ S S/ SN A S 2 L N A 1 ¥ i
! ! I [ ! R [ REES |+ ll ‘m N\ I 5 //—ﬂ j Nl R 4 0 4l ! I iz;ﬂ | ! | 1 ~ Ay % N <+ ﬁ—ijfmffJ mﬂ ‘ﬁl ‘ oW ‘ ‘ “ i
I L eu foU I T 14 S N 1L sO L ‘ ‘ VoL N EPON i ! ! ‘A L O T \ e e ! | | S
MIOXS0 AT J—— U RIS Q%J L s M16XL5 % i T e T A e X e | NI AMES
o) Mo0x7s  EN16399-L T M20x20 - 4 | AT | EN14399-4 /- Fe=pr—f X)) ISOLOTF/ENTS048-1 |1 /- N ! i Rt A S B 7 ) HiS ~ i M20x50 i TR0
c-a |\ . i — y HE— Y i e | X, N | 7 L] N — g N\ | M m | _ o — | NN
| (EN16399-4 TM2xes 7 demEEE O e, M20x3s | | XN 7 i T ENIG399L, S S EN14399-4 7 T :1: N
11 " %  \EN14399-4 77/ N \%) EN14399-4 9e NN e ; % (9\\;; o =IM20450 N ;! — M20x50 | o N M24xdS i A\
:: [ :: 7 J: AN g AN P V=i :: ' & N4 1 o e X o
S ENTL39- = 7 N L Miexds sl M20x50 & 399:4, 7 = ENiL399-1, L ENW3%- 2 7 DI
o RS ENL399- N : | M26x95 NN EN14399- NS X 7 TM21x90 / u ~ 7" M20x50 i) i | ~ u u
f mM f " AN o 7 o~ FN14399 | ) .7 M16x 45 | N M20x50 - L ! +|
- :: = 7 | EN14399-6 o AR 16399-4 EN1A399-4 oLt :: 7 EN14399-4 N ENIE399-L | 7 M20x50 | B
: M20x50 = L | M0s 7, S 16x45 ) ST M20x50 N ISOLOTH/ENTS048-1 || o 7 H ‘L
! EN14399-4 | ey M20x00 | X Y 2 b= 1304017/EN15048-1 A 4 Miexe0 - e EN14399-4 NN I i 4 &R 7 '3 L7 ENTR399-4 11 |
| i | ol ENW399-L g v | ENIR39-L TR LTI | f bLOENI399-4, | e S O 4 £ b A L ooeso |
P S T - T4 ! I T N 7 1 | 1 i 7 0 1 | m 1 1 / 7 gl T I X I
| ‘ 5, N S U SO DO - N S MU o SN IS S - A RN SR S 1< N gt S\ CAN SO DRSNS - A VU NN DN - O IR A N o\ 10233020 A NN N (N - G D SR R - N I L L L b R 5l o
- M16x60 I B o i SR RN T TR I A H RS ~ R TTICE I o R
T BNt : LT IR e [ el : | sy i ' Al S . s —
| T <~ L] 1 *%ﬁﬁ\\\jj \\ @ l”l 1023305 = et 1”1 e e 1023.@ | g |S[?Zé157/EN15048-1 1023 01 M20x75 / | \ M20x 75 1023374. M16xL45 ‘%/&?i N M20x75 ) H
M20x50 %%:#: -4 dp= === s | e S ) \10234-5[} S S ' ) . —_ ! it ! i\ N4/ R | 0 - — 20— EN14399-4 / . kEmlLng:[t ISO4017/EN15048-1 NN EN14399-4 = e =
EN14399- B — RN T | Mexso T L Mexs0 | ‘ R e e S I B M2050 NN T
Maokso T 1023310 : S 1023090 :: N Mexe0 | EN14399-4), ! D EN16399-4 | o :‘ | M20x>0 EN14399-4 - EN14399-L EN14399-4. - EN16399-4 /]| NN A
7 M16x60 ! C M6x60 / :: \CEN14399-4, || | 10233 :: :: 9 | | EN14399-4 ‘ ~ o M20x50 ' NN |
EN14399-4 I \ ] \ I \ I I u { { ~ w | ey K N\
****** | N14399-L j ENTE399-4 Mp0u50 | L Miex60 W R R e ma N R R M27x90 :‘ 1]\ M0t ‘ ! & EN14399-4 /63y 1 N ::
ii | MIGX60 | ENIA399-4 N R PERMETTTTE R ENTA399-L, | Moo S S ~ | S s |
_ | | EN14399-4 o \ 313 3; L 1 1 3; ) 3 ENB399-6 11| M20x50 ?N217139909 4 PR 33 y XESI\(I)1A399-4 \;\\ »
w5y | | Eeere——————1 S O AU U I U I TGN Tr.r.: o -/ WU U I U I 1 WU AU N o EN399-4  ENRITERS 1023393 11 M20x 75 L ER9ey M20KTS SO
=g iii o | it Bl R Bl fi | I i s e e - i =3 I
| SN A T L | R | ETH i i o f
g P399, S NO399-L ENIL399-4 [ “ B -7 RSN N vaneso O feds \ e | MITO0 | 1\ Miexds | s L ENIL399-1 7 |
2 o b M20x50 =~ » ‘E g e mEE Al |\ EN16399-4 ! : — H EN14399-4 — o ENTE399-L oo || \EN14393-4 <] 1M20x50 e
S T e E U1 1L EN14399-4 o | L IM20xT5 ! : = a 11 M20x50 R =Nl N o ; =l S [EN16399-b 3~ I N
S SIS St 1 U S P S| = EN14399-L4 /11023391 3 Q || EN14399-4 o sl | = i N Q| e B~
v ii e 993 U sk nyy 2 1/ M20650 S S| S : = 2 7 Ma0xN I
M20x50 11 W] ] u o/ EN14399-4 1 Migx LS || M16x45 ;; MI6xk5 || MI6xks | | ~ 7 EN1L399-4 I
ENTL309-.4 N I M20xP> ) I M20x75 — L ENIA399.4 | EN14399-4 M20x75 :: M20x75 EN14399-4 |1 EN16399-4 || M20X50 1 ]
M20x50 ] o T s ol o] A ol LT e ENTL399-1 | EN1L399-4 i 4 ENILI99-4 )+ o o
: X | X R T T . | | AR . . L 1| Lx
EN:S*;;‘Z% L EN16399-4 3;3 EN14399-4 ce c 1023383 L ce TR T e L I N N P I NP YTV |
L e SN S 1 S SRS S S — oo 102339 | o CTCI |
ii . | | | | 900 2300 | 2300 900 : g N K
SOL0B/ENTS048. | | L ” ” | J L | J / M20x50 ! M /| O M20x50
I 0 e + e[ T = 4+ e e ! ! \ |
- i ‘ Hbghan AR | - I vl S gl I HhgRai M2Lx?5 X | EN1&399-4 /| 1ig
ii | i TR T ot EN1A399-4, ENTL399-4 | 2 g N |
MIEX60 | wonecy | : M0 || ] :: < M20x75 M20x50 & | 0\ ‘
Mi6x60  EN14399-L by Bqq /1 /7 M16%60 llill M20x 75 " IEN1399-4 | 1T E@ L M16x50 ! S| EN14399-4 EN14399-4 M16x45 i = N,
0 I ENTA399-4 (10233090 T | ENGA399-4 e EN1L399-4. P == S ENIL399-4 M20xT5 1S04017/EN15048-1 e Mi65S : W NN
IS = R S——— e SR S o B U TN e i ENTA399-4 - Mibes0 1073300 i6x05 0ds T s ENTL399- 416155 MOS0 ENILS-L M2OKTS
T ) / :ﬂ / E ' O-rlfj r? rﬁj rﬁj 2 LEN&III=H }\ ISOL017/EN15048-1 ISO401F/EN150L48-1 EN14399-4 ‘ . EN14399-L EN14399-4 /: :‘ EN14399-4 N
DN MIgxe0 et £l sl s L il e st e A o S i — )/J ********************************************************************** . e 1023303 N [ i
D U ENe399-L o Miexeo RN il GERN ” L2505 Tva0xs0 M20XS0  Jox b Tl M20x50 RN T |
:: M20x50 LR EN1L399-4) N i _ | x> | V% &\g EN14399-4 P2 ENIL399.4 ENT4399-4 /L/ ey &\\Emmg-z, i P 2 |
I EN14399-4 NN\ M2Lx95 O\ | s s N EN14399-4 i / P 7 7 s ! N = N |
5 ii A DN ENTL399-4 s SHE S I N M26x95 ! MR Nz | /7 | S MOS0y N ii
3 | N X S e S OENT399-L | [\ = | sl ENI399-4 T N e fff
! NN N14399-4 N S ENe399-4 2 Elljj?l):g959 . X 11 i p : // D3 N 3| N\ .| M24x95 !
” b5 :: i ‘ - /, L S | | |
M20x5 33 NN N R e SN T i g | ENTL399-4 EN6399-4 / s N M20x50 .
EN14399-4 + A / AN\ =5 J//=T 7 A Ew AL AN / ! 7. N M20x50 / | -— NN y N\ w
77777 ~ _ - M20x50 M20x50 SN AN 70, M16%50 O /7 O — i — s : | s | N N\ EN14399-4 /7 M16x55 ) \\\\\ “‘ EN14399-4 AR
S~ EN14399-4 X N NN S S ///;/%/ M16xL45 X NN /7 AWMNNEE S N ‘! s ‘ M16x50 | R\ Vs EN14399-4 | AN . M20x50 DO
\J‘”” - EN14399-4 \%& ‘ ‘ X /// EN14399-4 ISOAO17/EN150L8-1/ :! L //;{// " \ A i ;/%ﬁ/ E],\%’]O[i(??gog L Elﬁ?[:(;gog ) ‘i | /:/// | 1ISOL017/EN15048-1 | N 7 ; ; . LRIFI77-%] \\}\\\ T ‘ EN14399-4 \\\ o i !
- o N bl | s A | gl o E - =B (S R % 1Y S w— 7y | g - Sat. | | X1 ] S
COOHTP A ) e - &":::’:ﬁ? @H ! M{*::ﬁ::::::F::::::::::::‘#:::Eﬂ Ly E:::#::::\::::::::::::::::::::af:::: 2 48—t %:Wwié*j#¢#¢%jﬁ J_ 1 55555455555%55:j:i:i:jzﬁf%ﬁfﬁfﬁfﬁﬁﬁiﬁj;{‘7*1 D= S I S 3 Il W—H;VJHLLTW% A \5 e T
-RJ BRI L Teler [ H 1 N B I I T o S NE AN BN S PSR P | N R BT N S A WL §TC B B e e L] o1+
N AN 120 | AR 1 R - o o o NG T - - - - 150 N0 L M20xT5 il 1023384 i M20x75 N il
| M24x85 L [M0231L M20x50 H . A L M20XTS 1023288 M16x45 \ M16x45 0x75 A 1023298 M20x75 PN BRI g X : |
| BNt || ol / EN399-4, | |- S *ENT399-4 1SO40TH/EN15048-1 ENIL399-4 ¢ N%WL | M20xT5 1023298 ENIG399-, - EN14399-4. £ i EN14399-4, =
| ISOOT/ENIS04B-1| o 1023361 : 1023360 \EN14399-4. 1023356 1023362 ;‘t " EN4399-4 - j; 02321 1023101
" | EN14399-4 1 EN14399-4 i§ | N 1023451 || |
= :1 :1 ! ! |
| | ]] : | 2150 = 1200 = 2150
| | ii | i
3‘ 1390 | 1500 H 110 |
000 4500 5500 5500 1000
\
| | |
O0HTP-1 (_00HTP-2 ) ( 00HTP-3 ) ( OOHTP-4 ) (_00HTP-5 )
+0,000 REL. = +54,150 ABS.
+6,900 REL. = +61,050 ABS.
+1,400 REL. = +66,050 ABS.
REV. MODIFICATION DATE PREPARED DATE CHECKED DATE RELEASED
FIRST ISSUE 24,04.2020 24042020 24042020
PROJECT TUBLI Bahrain gkt 4.3 SUPPORT SILOS st
PROJECT Nr. 0BJECT N, 2804-102 naustry
TITLE ERECTION DRAWING - PLATFORM +6,008 T.0.S, ﬂ—@ s mr@(}&&@mg
DRAWING Nr. e SCALE 120 Bffsffharaa Y-- fol.: +420 24 468 231
2804-102-3016 _hew w | HE RSEER




